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Economics o
Time: Three Hours . o _Full Marks: 100
1. Fillin the blanks {Answer alf the questions) _ : _ ix 20=20
(@  MRTS curves are called linear .
{b)  Thelowest barriers to entry are observed in the . narket. _ _
(c)  Atthe 2% stage of the law of variable proportions, Average Productaeu i than M&rginai
- Production. :
{d) It and § are the cutput elasticities of capitai and labour, resg ect;vc:%y, and if q-+f= 1 the pry oduc,t
A function has a/an retums to scaje. :
(&) Aneffettive price flooris the market equiibrium price. '
{y looks at the fotal sulput of a nation and the way the nalion affocates ils limited regources
' of fand, fabour and c,apltal in an atlempt to maximize production Ievc,i:; and promote {rade and giowih for
fufure generat:ons
{gy  National Income =G \EPFc- mings: _
th)  TRiMs stands for Trade Re{atuci Measu:cs _
10} One of the factors of law of returns is weer and tear of machinery. _
{ Under income method, mcomes, are considered in measuring national income. .
(k) . WTO's highest authority of policy making is WTO.___ W.,.‘;Cﬁf'i-léiﬁﬂce wi‘ﬁch isheld afier. BVLiyianqu :
(1) Prime cost = direct materiais + direct labour +direct
{m) materials are those materials which can be directly iuenufgcd in the produa an d can be dmuiy
: measured and directly charged to the product. :
{0} P=40-0.2Qd and P = 10 +0.10Qs, where P price, Gd = Quantity denanded, l:, b qmntﬁy suyplled
The equilibrium market quantity @ =
(o}  ‘Thereis only one seller or producer’ is a fealure of
{(p)  Afimyis said to be in equilibrium when it has neither heve any incentive fo ex wpand, norie
' its business.
(q) discrimination is a situation in Wthh a firm seiis the same produgt t tu dﬁ [orent cusicmens
_ atdifferent prices for reasons not related {o cost or mestin g-competition.
{y  Mu/pe=Muy fpy = Mum, whsuh is constant. Where
E Mug = )
Mtix and Muy are margmal utitity of products Xand Y, respectively.
prand pyare unit price of products X and Y, respectively
(8)  Everything else remaining the same, when the price.of a input drops, the supply cirve shiftsiothe
{t) The cost which varies directly i in proportion to every increase or deCfdeEi in the volume of output or
-produgtion is known as___ cost,
Section 2
( Answer any 4 questions. Oniy first 4 answered questions shall be e.mnm:ad the rest shall be ignored)
20x4=380
2. Write short notes on any four of the following: . 5x 4
) L.east cost combination of inputs (it} Cobb-Douglas production function, {iii} Central
problems of an economy, {iv} Price discrimination, {v) Market equifibrium '
PTO




3. Enumerate the factors that influence market structure. In which situation a firm is said to be in equilibrium?
Explain features of perfect competition. Provide a comparison of various market forms in a tabular format. _
Diagrammatically explain pricing under monopoly in the long-run. . 2+1+45+8+4

4. Define ‘Economies of Scale”. Summarise ‘Internal Economies of Scale’. What does 'Ektema! Economies of
Scale’ mean fo you? Explain classifications of ‘External Economies of Scale’. . - 2¥T4+249

5. What are the objectives of WTO? Explain TRIMs and TRIPs under WTO agreements Enumerate the prob[ems

of foreign trade faced by the developing countries - 5+10+5

8. -(a) Enumerate importance of National Income. | o - : 4

(b} Given the following data, using income and outcome methods find out domesnc income, national i mcome '

- gross domestic product at market price, and gross nataonal product at market price: ' 7 - 2x8
 Value of Sales  Rs.4000Cr Change in stock | Rs. 500 Cr.
 Intermediate Consumption Rs. 1,500 Cr. _ Inferest "Rs. 400 Cr.
Wages Rs. 350 Cr, Dividend . Rs. 300 Cr.
- Corporate Tax _ Rs. 200 Cr. Undistributed Profits Rs. 250 Cr.
Mixed income of Seif Employed  Rs.400 Cr. Depreciation Rs. 200 Cr.

Net Indirect Taxes Rs. 300Cr. , Rent Rs. 600 Cr.
Net Factor Income from Abroad  Rs, 100 Cr. :

- 7. Prepare a cost sheet from the following extracts of Rabi Co..

Material used in manufacturing Rs 5,500
Material used in packing material Rs 1,000
Materiat used in sslling the product Rs 150
Materiat used in the factory Rs 175
Material used in the office Rs 125
Labour required in production Rs 1,000
Labour required for supervision in factory Rs 200

- Expenses direct factory Rs 500
Expenses indirect factory Rs 100
Expenses office Rs 125 '
Depreciation of office building Rs 75
Depreciation on factory plant Rs 175

~ Selling expenses Rs 350 .

- Freight on material Rs 500

Advertising Rs 125

Assummg that all producte manufac ured and sold, what shoufd be the sellmg pnce 0 obtam a profit of 20% on
selling price. : _ - 18+2



